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M PPLOER 78 Tk B RE 7A : KBRS
x| | R | m | R | mee| e | 2 |er axe| 20| T
(¢] Eﬁ 1t 3S = 140 [ri] 5H -2 200 2
10 5&75 [£3] 3C = 110 [ri] 2H +1 -140 6
11 TS [ri] 3NT +2 -460 [ri] 4S = -420 1

12 | Fdt 7g 4Cx -3 500 it SH -1 -100 12

13 [ WA/ i1t 4S +2 680 1t 4S +2 680

14 |wE| 46 | aNT | +2 | 120 | 46 | aNT | = | 90 | 1
15 |mgdt| 7 | 6Hx | -3 | 500 | 4t | 5S | = | 650 4
16 || 4t | sb | -1 | 50 | 4t | 5D | -1 | -50
DATUM%tit iEE
AYIF£EFNPA HRSIEIERA F15 19 | 7
VFXER/EPLIEE 8 HLURIE/ -8 ait 19 | 7

R A /K EREE 8 L/ TRk -8 V.P. 14.39 | 5.61
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3 iFYISPARKBA VS 2 FRRETA
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RYIISPARKRA RESTRA RESTRA RYIISPARKRA
it : iR Rx:RI-T= | == 11 % EF
B3 A 7 ENE g TR 7 : kRIE
x| | R | m | R | mee| e | 2 |er axe| 20| T
9 g nyiie] 1t 2S +2 170 [ri] 4H 100 2
10 | WHB x INT -2 200 [ri] 4H -1 100 3
11 | X x 3NT +2 -460 x 4S +1 -450
12 | Edb 1t 4H +1 650 [£3] 4S = 620 1
13 | WH/ 1t 4S +2 680 1t 58S +1 680
14 | W 1t INT +2 150 x 2H -1 50 3
15 | Edt 1t 58S -1 -100 [ri] 5Hx -1 100 5
16 | ZRFg [ri] 4Cx -3 800 [ri] 3S -1 100 12
DATUM% it g
i~JIISPARKPBA FRET y. S+ ] 21 5
RELZ/HA 19 ZRIE/ T HE O Aait 21 5
FF/5KRIE O FI_=/LENE -19 V.P. 155 | 45
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x| | R | m | R | mee| e | 2 |er axe| 20| T
9 ,?ﬁ [ri] 5Cx -2 500 1t 4Sx -1 -100 12
10 | WHB [ri] 3H = -140 [£3] 3C -1 -100 1
11 | YW [ri] 4S = -420 x 4S +1 -450 1
12 | Edb [£3] 3NT -1 -100 5| 5H +1 680 13
13 [ WA/ i1t 4S +2 680 1t 4S +2 680
14 | W 1t INT = 90 1t 2NT +2 180 3
15 | Edb 1t 5S = 650 1t 5S -1 -100 13
16 | ZRFg [£3] 3NT -1 -50 [ri] 3S -2 200 6
DATUMSit T
RIS IERB GREREP Y. X+ 26 23
ERRR/X52 -2 XIEEF/KER -7 ait 26 | 23
EXPAIE /{2 2R 7 XUNE/1REF 2 V.P. 11.27 | 8.73
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B EE 7 #PIR B ZIEE 7g: EE
x| | R | m | R | mee| e | 2 |er axe| 20| T
9 g nyiie] 1t 4Sx = 590 1t 4S -1 -50 12
10 | WHB [ri] 2H +2 -170 [ri] 3H = -140 1
11 |kl & | aNT | +2 | 460 ] 7 | 3NT | +1 | -430 1
12 | Edb 1t 6H -2 -200 5| 6H -1 -100 3
13 [ WA/ i1t 4S +1 650 1t 4S +2 680 1
14 | W [£3] 3C = 110 1t INT = 90 1
15 | Edt [£3] 6S -1 -100 [£7] 58S = 650 13
16 | ZRFg 1t 5D -1 -50 1t 4D = 130 5
DATUM% it g
TR HE1+1PA r. X+ 13 | 24
E/FEE 21 BEEE/ZEE  -12 ait 13 | 24
Mot/ 24 12 P E/# PR 21 V.P. 5.91 | 14.09
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x| | R | m | R | mee| e | 2 |er axe| 20| T
9 ,?ﬁ 1t 4Sx -1 -100 1t 4Sx -1 -100
10 | \WHB [ri] 4H -1 100 [ri] 2H +1 -140 6
11 | YW [ri] 5S = -450 x 3NT +2 -460
12 | Edb 1t 4H +1 650 5| 4H = 620 1
13 | WH/ 1t 4S +2 680 1t 4S +1 650 1
14 | W 1t 2NT +1 150 1t INTX | +2 380 6
15 | Edt [ri] 6HX -3 500 1t 5S -1 -100 12
16 | ZRFg 1t 4D = 130 [ri] 4Sx -3 800 12
DATUM&iT %
iR®YISKYBA G5 ERRA Y. X+ 20 18
IR/ FELR 10 TR/ E 7 ait 20 18
B {ERR/3KEF -7 R/ EL -10 V.P. 10.86 | 9.14




